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Exposants négatifs de 10

Nom:

3x10% =

1002 =

6x 1002 =

730,5+ 1072 =

3x 1007 =

10(—2) —

~1x10=

886 x 107 =

10(—1) —

1 x10=

Date:

100D =
1003 =

100D =

1002 =

780,8 + 100" =
100D =

3x 10072 =
1009 =
293,1x 107" =

659,1+ 10" =
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Nom: Date: Note: __
3 x 10% = 300 1077 =0.1
1072 = 0.01 107 = 0.001
6 x 1072 = 0.06 1077 =0.1
730,5+ 1072 = 73050 107% = 0.01
3 x 107 = 0.003 780, 8 + 100" = 7808
107% = 0.01 1077 = 0.1
~1x10=-10 3% 1007 = 0.03
886 x 107 = 0.886 107 = 0.0001
1000 =0.1 293,1x 107" =29.31
1%x10=10 659, 1+ 107 = 659100
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